ol
(au
| TP

46—4 /0

336 /477 FOR REMOVAL ONLY

DRAWN BY:
. GL

APPROVED BY:
CcP

DATE:
S/719/04

REVISED BY:

\.

APPREUPEEY: |

DATE:

AN

(TI TLE:

THREE PHASE DEAD
END SLACKSPAN ON
5 FIBER ARM

~~
GARLAND

POWER&LIGHT

STANDARD NO.:

A OH—-1646

J/




CONSTRUCTION STANDARD NO. : OH-1646A

TITLE: 3 PHDE SLACK SPAN ON 5' FIBER ARM 6-4/0 REV. DATE: 12/4/2003
PIC. # DESCRIPTION IBM NO. QTy.

1 CROSSARM, 60" x 3" FIBERGLASS (FOR DEAD ENDING CONDUCTORS) 285-21-13755 1

2 PIN POLE TOP, FIBERGLASS, CONTINENTAL GRP-58M-21, 1" THkDS 235-21-13825 1

3 INSULATOR DEAD END 3.5" X 12-1/2" LENGTH CHANCE #C654-3015 286-42-26020 3

4 INSULATOR PIN TYPE 15KV 286-42.-25;100 3

5 PIN STEEL 5/#“ X 5-3/4" WINUTS 285-39-10246 2

6 INSULATOR SPOOL TYPE SECONDARY 286-42-23310 2

7 1PT RACK GALV ”1"-'1/2“ X 1/2" X 1/8" CLEVIS 285-39-14039 7
8 BOLT WASHER HEAD 5/8" X 14" W/ WASHER NUT 285-08-96926 3

9 BOLT DOUBLE ARMING 5/8" X 20" 285-08-21558 1
10 NUT 5/8" OVAL EYE 285-08-56640 1

11 CLAMP DEADEND STRAIGHT LINE ALUM ACSR .470" TO .198", 2/0 TO #6 285-13-16395 3
12 NUT WASHER 5/8" THREAD JOSLYN 285-08-14674 5

Monday, November 07, 2005

OH-1646A




